THE GEAR CENTRE

RED DEER, AB T4P 3R2

www.gearcentre.com

#8-7431 EDGAR INDUSTRIAL DRIVE

403-340-3330 Fax:403-340-1233

Y TRICAN WELL SERVICE
2900, 645 -~ 7 AVENUE S.W.
CALGARY, AB T2P 438

TRICAN WELL SERVICE

8037 EDGAR INDUSTRIAL CRESCENT
RED DEER, AB T4P 3R3
403-346-4667 Fax:403-346-3328

** DUPLICATE * *

INVOICE

]

Ord./invoicedt: | 3585815-00

Invoice Date | 01/03/201.7 §
Customer # 5450

P.O. # e DBL3T74

Taken By 7| Blake Rufiange

Sales Rep ... MATTHEW BINGLEY

Remit to:

Ship Point GEAR CENTRE - RED DEER
Ship Via
SRC# 355882-00
Terms N30-NET 30
Instructions
- DIAG & REPAIR TRANSMISSION

15725-118 AVENUE
EDMONTON, AB TS5V 1B7
ATTN: ACCOUNTSE RECEIVABLE

DRAINED TRANSMISSICN, REMOVED DRIVELINE, CROSS %
AND ALL CCMPONENTS REQUIRED TO REMOVE TRANSMIS
CLUTCH ASSY.SENT FLYWHEEL TO PATS TQ BERESURFA
TRANS , FOUND TEETH MISSING FROM GEARS
ALL ITEMS TO NEW TRANSMISSION. INSTALLED NEW CI
TRANSMISSION.REINSTALLED ALL COMPONENTS REMOVE

DISSASSEMBLY . FILLED WITH NEW CD50 OIL

AND ESTIMATED PTC.REPLACED OUTPUT 3§
PTO.INSTALLED PTO ONTO TRANS WITH 0
FOR PROPER OPERATION AND LEAK CHECK]

.0

HAFT AND GEH

ED.

IN MAINBG

AND CGREHXH

10" BACKL

EMEMBER , YCKE
STION AND
CED. INSFECTED
X . SWAPPED OVER
UTCH AND

D DURING
SED.STRIPPED
ARS ON
ASH.TEST DROVE

Unit # 610562 | License Plate # | BKP-8713
Descripfion | 2011 KENWORTH
VIN # 1XKDD40X7CJ950286
KM 513591.00 | Hours [12914.60
Line | Product/ Qty Ord . Qty Shp/ Qty Net Price/ Amount
Description Qly BO Unit| g, 2 JURit |, {Net)
3 b (R IWNST N Sl i
| AVANTIS T UN
Repair Item - L b
1| TRANSMISSION Gl.Cofler 2002-00-8D2-00 i
MISC TRANSMISSION ot
S gyEy i
SW REPAIR LINE USE ONLY! SUDOE 9858 . 53 -
Problem : [ Ypnr— |
FDEICYaL i
DIAGNOSE AND REPAIR TRANSMISSION |
**NEEDS PTO AS WELL** B0 #- 581374 I
Work Performed i

Parts
RTLO 18918 B-0OE-HR 1 1 ER 4221.00 42231.00
TRANSMISSION 0 BB -
W/HALO STYLE PUMP )

Serial # Location o

117095 XX/ EKEXR /XXX o
RTLO 18918 B-HC w1 1 EA ; 3500.00 3500.00
CORE (CHARGE 0 EA

3400 300 195 1 1 EA 895.80 895.80
CLUTCH, SACHS HD 15.5 0 EA

2050 MAN. ADJ

PST Lic#: G8T Reg#: R101577112 Page: 1 Continued...



THE GEAR CENTRE " * DUPLICATE ** INVOICE

#8-7431 EDGAR INDUSTRIAL DRIVE Ord./invoice# | 3585815-00
RED DEER, AB T4P 3R2 Invoice Date -|01/03/2017
403-340-3330 Fax:403-340-1233 Customer# | 5450

PO #:: 581374
www.gearcentre. com Taken By ......|Blake Rufiange

. TRICAN WELL SERVICE Sales Rep .| MATTHEW BINGLEY

12500, 645 - 7 AVENUE S.W. Ship Point GEAR CENTRE - RED DEER

| CALGARY, AB T2D 4G8 ggg:a STE55375
Terms N20-NET 30
instructions
TRICAN WELL SERVICE DIAG & REPAIR TRANSMISSION
8037 EDGAR INDUSTRIAL CRESCENT Remit to:

| RED DEER, AR T4P 3RR3 15728-118 AVENUE
1403-346-4667 Fax:403-3456-3328 EDMONTON, AR T3V 1B7

ATTN: ACCOUNTS RECEIVABLE

Unit # 610562 | License Plate # |[BKP-8713

Descripfion | 2011 KENWORTH

VIN # 1XKDD40X7CI950286

KM 513591.00 | Hours _J12912.60

Line| Product/ - _ | ayord Qiy shp/ | Qly Net Price/ Amount
Description e “Qty BO ~ | Unit Unit (Net)
FW GRIND HD 1 1 EA 85.00 85.00
FLYWHEEL RESURFACING 0 EA
HEAVY DUTY FLYWHEEL
6306-2RS 1 1 1579 18.20 18.20
BEARING, BALL 0 EA
1.1811 X 2.8346 X 0.7480
SB 200 1 1 ER 40.50 40.50
BRAKE, CLUTCH 2.00 0 EL
TWC PIECE
BHBKIT 1 1 EA 26.99 26.99
BELL HOUSING BOLT KIT 0 ER
CLBXIT 1 1 ER §.43 | £.43
CLUTCH BOLT XIT 0 ER :
106C14980G 1 1 EA 20.02 20.02
SHAFT, CLUTCH CROSS 0 EA
6.5
K210-883 B : 1 1 .. |EA 144.10 - 144.10
SHAFT; CROSS - ; o0 : ERA -
105013700 L v £ S o |EAE 47.71° 47.71
YOKE,  CLUTCH RELEASE : g T : EA
84103 & = 2. 2 So|Ea e 13.1780 26.35
UNION 0 EA
75120 1 1 FT 1.38 1.38
TUBING NFLO RED 0 FT

PST Lic#: @ST Reg#: RLOL577112 Page: 2 Continued...



THE GEAR CENTRE * * DUPLICATE = * INVOICE

# 8-7431 EDGAR TNDUSTRIAL DRIVE Ord,/anOfCG# IE8E815~00
RED DEER, AB T4P 3R2 Invoice Date | 01/03/2017
403-340-3330 Fax:403-340-1233 Customer# 5450
PO.# 581374
wwwW.gearcentre. com Taken By - |Blake Rufiange
| TRTCAN WELL SERVICE Sales Rep .| MATTHEW BINGLEY
12900, 645 - 7 AVENUE S.W. g}f;{p ﬁ:_amt -|GEAR CENTRE - RED DEER
| CALGARY, AB T2P 4GS SR%#:G TTTTERY
Terms N30-NET 30
instructions
TRICAN WELL SERVICE DIAGC & REPAIR TRANSMISSION
8037 EDGAR INDUSTRIAL CRESCENT Rermit to:
_403“346—4667 Fax:403-346-3328 EDMONTON, AR TS5V 1R7
' ATTN: ACCOUNTS RECEIVABLE
Unit # 610562 | License Plate #| BKP-8713
Descripfion | 2011 KENWORTH
VIN # 1XKDD40X7CT95 0286
KM 513591.00 | Hours [12814.60
Line | Product/ .| Qty Ord Qty Shp/ Qty Net Price/ Amount
Description o | Qly BO Unit Unit {Net)
75320 : 1 1 FT 1.38 1.38
TUBING NFLC BLACK 0 FT
K-4148 2 p EA 61.27 122.54
SPEED SENSCR KIT : 0 ER.
£888C-050~150 10 10 EA 2.3750 23.76
1/2 X 1-1/2 N CAPSCREW 0 ER
NNESC-050 2 2 EA 2.18 4.32
1/2 NC NYLCN NUT GRS : 0 ERL
HN8SC-050 8 8 ER 1.75 14.00
1/2 NC NUT 0 EA
8WS-050 20 20 EA 1.7495 | 34.99
1/2 FLAT WASHER 0 EA
8WS-043 4 4 ER 1.1675 4.67
7/16 FLAT WASHER 0 ER
141-015% 10 10 EA 0.8720 9.72
7/16 BXT TOOTH LCKWASHER - _ 0 - .. EA
328170-200X : ' 1 i1 o |EACY 17.32 7 17.32
STUD KIT i : S I u ER
328356-50% g . 1 1 SBR[ 28.06 . 28.06
GASKET & SEAL : o ER
KIT

PST Lic#: GS8T Regh: R1L01577112 Page: 3 Confinued...



** DUPLICATE * *
THE GEAR CENTRE INVOICE
#8-7431 EDCAR INDUSTRIAL DRIVE Ord./invoice# | 3585815-00
RED DEER, AB T4P 3R2 Invoice Date - 01/03/2017
403-340-3330 Fax:403-340-1233 Customer# 15450
P.O.# 581374
wWwWw.gearcentre. com Taken By - |Blake Rufiange
2900, 645 - 7 AVENUE &.W. Shfp w’ -
CALGARY, AR T2D 4G8 SRg#a ~s5553 50
Terms N30-NET 30
- instructions
|TRICAN WELL SERVICE DIAG & REDAIR TRANSMISSION
/18037 EDGAR INDUSTRIAL CRESCENT Remit to:
{RED DEER, AR T4P 3R3 15725-118 AVENUE
: ATTN: ACCOUNTS RECEIVABLE
Unit # 510562 | License Plate # |[BKP-8713
Description | 2011 KENWORTHE
VIN # 1XKDD40X7CJ950286
K 513591.00 | Hours [129314.60
Line | Product/ Qfy Ord Qty Shp/ _Qty Net Price/ Amount
Description Qty BO Unit Unit {Net)
3P202 1 1 EA 52.96 52.96
OUTPUT SHAFT 0 E&
1 1/4
210757 2 2 EA 24.9050 49,871
BEARING, TAPERED 0 EA
0.7500 X 0.85%8 ¥ 0.0620
15117T 1 1 EA 16.45 16.45
BEARING, TADERED 0 Ea
1.1805 X 0.8125 X 0.0460
15126T 1 1 EA 17.47 17.47
BEARING, TAPERED 0 EA
1.2500 X 0.8125 X 0.0310
15245 2 2 EA 6.2750 12.55
BEARING, TAPERED 0 “EA
2.4410 X 0.5625 X 0.0460
5P12485 1 1 Ea 253.48 253.48
CLUSTER GEAR 0 EA
2P778 1 1 . |Ea 156.84. 156.84
OUTPUT GEAR o EA
903568 2 2 o |ERC 17.38 34.76
CLAMP, STEE 0 : EA -
4 :
903588 1 1 EA 14.96 14.96
CLAMP, STEP 0 EA
5
PST Licd: G8T Reg#: R101577112 Page: 4 Continued...




THE GEAR CENTRE

RED DEER, AB T4P 3RZ
402-340~3330 Fax:403-340-1233

www ., gearcentre.com

#8-7431 EDGAR INDUSTRIAL DRIVE

| TRICAN WELL SERVICE
2900, 645 - 7 AVENUE S.W.
CALGARY, AB T2P 408

| TRICAN WELL SERVICE
18037 EDGAR INDUSTRIAL CRESCENT
/RED DEER, AB T4PF 3R3

1403-326-4667 Fax:403-346-3328

** DUPLICATE * *

INVOICE
Ord./invoice# |3585815-00
invoice Date | 01/03/2017
Customer # 5450
P.O. # 581374
Taken By 1Blake Rufiange
Sales Rep ... |MATTHEW BINGLEY
Ship Point CEAR CENTRE - RED DEER
Ship Via ..
SRO# 355982~-00
Terms N30-NET 30
Instructions
DIAG & REPAIR TRANSMISSION
Remit to:

15728-118 AVENUE
EDMONTON, AB TS5V 1B7
ATTN: ACCOUNTS RECEIVABLE

Unit # 610562 | License Plate # | BKP-8713

Description |2011 XKENWORTH .

VIN # 1XKDD40X7CT950286

K 513581.C0 | Hours [12914.60

Line | Product/ Qty Crd Qiy Shp/ Qty Net Price/ Amoint
Description " Qfy BO Unit Unit (Net)
KL-50042 1 1 EA 4.90 £.90
PREMIUM UNIVERSAL GREASE 0 EA
KLONDIKE RED 297G
BULK-CD50 20 20 L 15.0985 301.97
CD50 SYNTHETIC GEAR OIL 0 L
KLONDIKE BULK
8WS-062 2 2 EA 1.4050 2.81
5/8 FLAT WASHER 0 ER
NNBSF-062 2 2 ER 2.2050 4.41
5/8 NF NYLON NUT GRS 0 ER
K202-2002-1 1 1 EA 168.41 168.41
CLUTCH CONTROL PAD o EA
SPFES 2 2 En 11.95 23.90
CLUTCH ROD END 3/8 0 EA
HWC04834 2 2 each 1.04 2.08
HEX NUT ¢ each
HNBSF-038 2 2 EA 0.78 - 1.58
3/8 WF NUT 0 ER
22941 : 1 1 BA 47.52 47.52
SWITCH, NEUTRAL : 0 Ez
3PE0 1 1 EA 31.01 31.01
IDLER SHEAFT 0 EA
378430-10 F 4 EZ 0.4325 1.73
CAPSCREW HEX 0 ER

PST Lic#: GS8T Reg#: R101577112 Page: &5 Continued...




THE GEAR CENTRE

RED DEER, AB T4F 3R2
403-340-3330 Fax:403-340-1233

WWW,Jearcentre.com

#8-7431 EDGAR INDUSTRIAL DRIVE

HTRICAN WELL SERVICE
2900, 645 - 7 AVENUE S.W.
4 CALGARY, AR T2P 4@8

TRICAN WELL SERVICE
8037 EDGAR INDUSTRIAL CRESCENT
RED DEER, AB T4P 3R3

** DUPLICATE * *

INVOICE
Qrd./invoice# . | 3585815-00
Invoice Date - | 01/03/2017
Customer # 5450
PO # 581374
Taken By . . |Blake Rufiange
Sales Rep . | MATTHEW BINGLEY
Ship Point GEAR CENTRE - RED DEER
Ship Via
SRO# 355582-00
Terms N30-NET 30
Instructions
DIAG & REPAIR TRANSMISSION

Remit to:

403~-346-4667 Fax:403~346-3328

15728-118 AVENUE
EDMONTON, AB TS5V 1B7
ATTN: ACCQUNTS RECEIVARLE

Unit # 610562 | License Plate # | BKP-8713
Description |2011 KENWORTH
VIN # 1XKDD40X7CT950286
KM 513591.00 [ Hours |12914.60
Line | Product/ Qty Ord Qty Shp/ Qty Net Price/ Amount
Description Qty BO Unit Unit (Nef)
.312 18
C588C-031-075 4 4 EA4 1.9450 7.78
5/16 X 3/4 NC CAPSCREW 0 EA
35P41 1 1 EA 6.92 6.92
GASXET MOUNTING 0 EA
& BO
Parts Total 10508.52
Labour
LABCUR 18 18 HR 120.00 2160.00
LAROUR 0 HR :
18.00 |HR Labour Total 2160.00
Parts
RTLO 16918 B-HDC i- 1- BEA 3000.00- 3000.00-~
CORE RETURN 0 "EA
Original Invoice #3585815
Substitute Returned for: RTLO 18918 B~-OE-HDC
Return Core Info: 3585815-00 Ln# 1 Inv. Date: (01/03/17
Berial # Location
121111
$500.00 CORE CHRRGE,DUE TO UNLIKE- CORE .
. fEap e Parts Total . 3000.00-
47]Lines Total Oty Shipped ‘Totall T4 Total . . 9668.52
. Brnviro Fee 15.00
ShopSupplies 175.00
@8T/HST 492.893
Net Amount 10351.45
LR e L L S S R SRR E R R R R
PST Lick: @ST Reg#: RLOLE77112 Page: € Continued...




THE GEAR CENTRE

RED DEER, AB T4P 23R2

www.gearcentre.com

#8-7431 EDGAR INDUSTRIAL DRIVE

403-340-3330 Fax:403-340-1233

+| TRICAN WELL SERVICE
2800, 645 - 7 AVENUE S.W.
CALGARY, AB T2F 4GS8

TRICAN WELL SERVICE

8037 EDGAR INDUSTRIAL CRESCENT
RED DEER, AB T4PF 3R3
403-346-4667 Fax:403-345-3328

** DUPLICATE * *

INVOICE

Ord./invoice# |3585815-00
Invoice Date | 01/03/2017
Customer # 5450
P.O.# 581374
Taken By Blake Rufiange
Sales Rep MATTHEW BINGLEY
Ship Point (GEAR CENTRE - RED DEER
Ship Via
SRO # 3255982-00
Terms N30-NET 39
Instructions
DIAG & REPAIR TRANSMISSICN
Remit to:

1572¢-118 AVENUE

EDMONTON, AR TS5V 1B7

ATTN: ACCOUNTS RECEIVABLE

Unit # 610562 | License Plate # | BKP-8713
Description | 2011 KENWORTH
VIN # 1XKDD40X7CI850286
KM 513581.00 | Hours [12914.60
Line | Product/ Qty Crd Qty Shp/ Qty Net Price/ Amount
Description “Qfy BO Unit Unit (Net)
PARTS LISTED ARE NOT NECESSARILY MANUFACTURED BY THE
ORIGINAL EQUIPMENT MANUFACTURER AND ANY REFERENCE TO THE
TRADEMARKS OR PART NUMBERS OF {OTHERS ARE |FOR CROSS REFERENCE
INFORMATIONAL PURBOSES ONLY.
hkdkdhkhkrhdhhhhdkhkhbkrorkdddhkhddrorhdrdhbrhridrdbdrdrdraohrhrrbrrotdhs
RECEIVED
** T acknowledge receipt of the above goods/serviges and that I Have read and
understand the warranty policy stated on the back of this invaice.
PST Lic#: GST Reg#: R101577112 Page: 7 ... Last Page



